2-JAW HIGH SPEED HOLLOW POWER CHUCKS
—MEEPZEHER R EA

R Y B > Dimensions

-Q_
2 W w
1T ek ks
g E_% ﬂ 2 o I < BYEER
X O_ - 5 >< o_ - 3 /
30 ‘i® | @Q 30| 1\_ U 5 1 T 1]
o 318 |8 s Ee elgs -
oAla Y Pa b 2g=m | 2 13
p— _\ P = 3 __J
= e I
I " I E
OPT-204,205 B OPT-206,208,210,212,215 ! Fll i e
E L
2 B B
#2 1% & > Specifications EE{iI/UNIT:mm
BT /MRS FESimER c
MODEL Nose Of A B o) D E E1 F G H H1 | J K L
| SPEC. Spindle
OPT-204 - 110 59 85 -- -- - 4 -- 70.6 -- -- 26 4-M10x1.5P --
OPT-205 Aq-4 135 60 110 63513 20 - 4 96 82.6 PCDgll8 4-M8x1.25P 33 4-M10x1.5P 15
OPT-206 Ax-5 169 81 140 82563 15 - 5 116 104.8 PCDgl45 6-M10x1.5P 45 6-M10x1.5P 16
OPT-208 Ax-6(A2-5) 210 91 170 106.375 17 23 5 150 1334 PCDgl180 6-M10x1.5P 52 6-M12x1.75P 18
OPT-210 A:-8(A2-6) 254 100 220 139.719 18 28 5 190 1714 PCD@225 6-M12x1.75P 75 6-M16x2P 23
OPT-212 A:-8 304 110 220 139.719 18 -- 6 190 1714 PCD@250 6-M12x1.75P 91 6-M16x2P 25
OPT-215 Ax-11(A=-8) 381 133 300 196.869 22 33 6 260 235 PCD@324 6-M12x1.75P 117.5 6-M20x2.5P 28
3 BILBEE  EETRE
BT /7848 i
N N (0] (0] P P Thru-Hole  Plunger
MODEL M max. min. max. min. max. min. Q R S T u \ w X Y [Diameter] Stro?(e
OPT-204 14 23 203 115 6.7 35 6.5 23 10 175 2 M32x15P 12 24 495 - 26 10
OPT-205 14 26.2 235 19 6 1 -9 25 10 20 2 M40x15P 12 315 62 - 33 10
OPT-206 20 32.35 29.6 24 7 11 -1 31 12 19 2 M5B5x2P 20 375 73 - 45 12
OPT-208 25 39.1 35.4 30 10 145 -15 35 14 205 2 M60x2P 30 395 95 104.8 52 16
OPT-210 30 515 47.1 34 12 85 -105 40 16 25 2 M85x2P 40 43 110 1334 75 19
OPT-212 30 61.6 56.3 46 12 8 -15 50 21 28 2 M100x2P 50 51 129 - 91 23
OPT-215 43 823 77 46 13 7.5 16 62 22 425 5 M130x2P 48 66.5 165 171.4 117.5 23
M7 =g =g BRARTE e
. yis . mANLS] BRABREF i . fBic .
BT /RRA8 (BiE) REAER Max. Pul Max. Gripping EEEET) PE SHERE] BUSR RF5EEE
l}ﬂglg)EE(l:. %S\i,;rig?ekr‘]a Max.Speed Force Force MPaX- Hydr. Weight Matching Gripping
5 r.o.m.(min* ressure (kg) H Range
(mm) p.m.(min*) kgf  (KN) kgf  (KN) kgficm: (Mpa) Cylinder
OPT-204 5.4 8000 920 (9 1930  (19) 155  (L5) 3.6 P0928 97~2110
OPT-205 54 7000 1120 (11) 2340 (23) 19 (1.9 6.5 P1036 210~9135
OPT-206 55 6000 1420  (14) 3770 (37) 185  (1.8) 13.1 P1246 213~2169
OPT-208 7.4 5000 2240 (22) 5710  (56) 17 (1.7) 23.0 P1552 213~2210
OPT-210 8.8 4200 2850  (28) 7440  (73) 18 (1.8) 35.9 P1875 230~0254
OPT-212 10.6 3300 3670  (36) 9690  (95) 18 (1.8) 56.6 P2091 235~5304

OPT-215 10.6 2500 4790  (47) 12130 (119) 17 1.7) 103.2 P2511 #35~0381




3-JAW HIGH SPEED HOLLOW POWER CHUCKS 4-JAW HIGH SPEED HOLLOW POWER CHUCKS

PO/ &S &P ZE5H B 22T

BH: 0K SLE

Larger Through Hole
OP-221,224E K 3L {EE% 5T
With Larger Through Hole

=E
205 ER SR 5

R < B > Dimensions

R I B >» Dimensions

09

-Q_ -Q_
LR R w w
OP-206,208,210,212 & 1T] 1] == —T
w w g = | EE?’}*J\_l:]
_ _ . & B . Fertiy Ferii 7°7'30"
45 ® ® 45 45° @ 4o X|o[ R -[fﬂ | o R H >
xs[% % xEt%aJ e | i L LU - Iy
(o] 3 (o] 3 T _ _ ) >10| < | I ) > 00 <
30° 30° = = \Qﬂoq: 2 =3 \\%to Olo| 1—@® ! @@# m %—} = T Csl PEIQ ° B &( 1700 L]
SEERIeLS(S mEESISESISS \ , I fﬁr_ |z Til = T
EI‘ l: i EgL ule_ éjg 45° &® é @g 45° 45 O 45 S L ) EE E &,, ?:ﬂ = = _3&1&
30° 30° S _E 8 ggi}i % ol = Kk
=N = K % 2 i S (i
4 g Fll\K u Ell = A H2 B H1 Ell K SN F%
Cp G s A g ETTIL B E1 OPF-206,208,210,212 OPF-215,218 B 5 E L | E1
#5 1% & > Specifications EE{iI/UNIT:mm
: Bt #5 #%& & > Specifications BE{TI/UNIT:mm
MODEL = fe A B C D E E1 F G H H1 11 H2 12 H3 ~ s
/ SPEC. Nose Of (ve) B HEA8  TEERER
Spindle MODEL Nose Of B C D E E1 F G H H1 I H2 12
OP-204 - 110 59 85 - ~ - 4 - 706 - - - - - / SPEC. Spindle (h6)
OP-205 A4 135 60 110 63513 20 -- 4 96 82.6 PCDo118 3-M8x1.25P - - -
OP-206 Ax-5 169 81 140 82563 15 -- 5 116 104.8 PCDo145 6-M10x1.5P - - - OPF-206 Ax-5 169 81 140 82563 15 - 5 116 104.8 PCDg145 4-M10x1.5P - -
OP-208 A-6(A=-5) 210 91 170 106.375 17 23 5 150 133.4 PCD@180 6-M10x1.5P - - -
OP-210 A-8(A-6) 254 100 220 139719 18 28 5 190 1714 PCD2225 6-Mi2x1.75P - - - OPF-208 Ax-6(A2-5) 210 91 170 106.375 17 23 5 150 133.4 PCDg180 4-M10x1.5P -- --
OP-212 Ax-8 304 110 220 139.719 18 - 6 190 171.4 PCD@250 6-M12x1.75P -- -- - OPF-210 A:-8(A=-6) 254 100 220 139.719 18 28 5 190 171.4 PCDg225 4-M12x1.75P - -
OP-215 A-11(A--8) 381 133 300 196.869 22 33 6 260 235 - - PCD230 3-M12x1.75P PCD@300
oP-218 A-11(A=8) 450 133 300 196.869 22 33 6 260 235 PCDo230 3-M12x1.75P PCDo300 3-M12x1.75P PCD@380 OPF-212 A-8 304 110 220 139.719 18 - 6 190 171.4 PCD@250 4-M12x1.75P - -
OP-221 A--15(A--11) 530 140 380 285775 27 41 6 330.2 330.2 PCD@300 3-M16x2P PCD@380 3-M16x2P PCDg460 OPF-215 Ae-11(A=-8) 381 133 300 196.869 22 33 6 260 235 PCDg324 4-M12x1.75P -- --
OP-224 A:-20(A:-15) 610 149 520 412.745 27 42 6 463.6 463.6 PCDo350 3-M16x2P PCD@450 3-Mi16x2P  PCDo550
OP-210BH A-8(A-6) 254 100 220 139.719 18 28 5 190 171.4 - - PCD@160 3-M12x1.75P PCD@220 OPF-218 Ax-11(A=-8) 450 133 300 196.869 22 33 6 260 235 PCD@300 4-M12x1.75P PCD@380 4-M12x1.75P
OP-212BH A8 304 108 220 139.719 18 - 6 190 171.4 - - PCDo170  3-M16x2P  PCD@260
AT /3848
I.\%/SEF J K L M N N O © P P QR S T u v o w X BRI /4948
/SPEC. max. min. max. min. max. min. MODEL J K L M N N O O P P Q R S T U V W X Y
max. min.  max. min. max. min.
OP-204 - 26  3-M10x1.5P -- 14 23 203 115 67 35 -65 23 10 175 2 M32x1.5P 12 24 495 / SPEC.
OP-205 - 33 3-M10x1.5P 15 14 262 235 19 6 1 -9 25 10 20 2 M40x1.5P 12 315 62
OP-206 -- 45 6-M10x1.5P 16 20 32.35 29.6 24 7 11 -1 31 12 19 2 M55x2P 20 37.5 73 OPE-206 45  4-M10x1.5P 16 20 3235 296 24 7 11 -1 31 12 19 2 M55x2P 20 375 73 --
OP-208 - 52  6-M12x1.75P 18 25 39.1 354 30 10 145 -15 35 14 205 2 M60x2P 30 395 95
OP-210 - 75 6-M16x2P 23 30 51.5 47.1 34 12 85 -105 40 16 25 2 M85x2P 40 43 110 OPF-208 52 4-M12x1.75P 18 25 39.1 354 30 10 145 -15 35 14 205 2 M60x2P 30 39.5 95 104.8
oP-212 = o1 6Mi6xeP 25 30 61.6 563 46 12 8  -15 50 21 28 2 MI00x2P 50 51 129 OPF-210 75  4-M16x2P 23 30 51.5 47.1 34 12 85 -105 40 16 25 2 M85x2P 40 43 110 133.4
OP-215 3-M12x1.75P 117.5 6-M20x2.5P 28 43 823 77 46 13 75 -16 62 22 425 5 M130x2P 48 66.5 165
OP-218 3-M12x1.75P 120 6-M20x2.5P 28 43 83.8 785 78 18 7.5 -16 62 22 425 5 M130x2P 48 66.5 165 OPF-212 91 4-M16x2P 25 30 616 56.3 46 12 8 -15 50 21 28 2 M100x2P 50 51 129 --
OoP-221 3-M16x2P 180 6-M24x3P 35 60 1196 1143 63.3 213 105 -13 65 25 425 5 M195x2P 80 73.5 180
OP-224 3-M16x2P 205 6-M24x3P 36 60 134.4 1284 87.3 213 135 -11 65 25 41 5 M220x3P 80 73.5 180 SUmGl 1175 4M20x25P 28 43 83 77 46 13 716 62 22 425 5 MIS0x2P 48 €65 165 171.4
OP-210BH ~ 3-M12x1.75P 78 6-M16x2P 24 30 53.1 486 33.55 11.05 895 -10.55 40 16 25 2 M87x2P 40 43 110 OPF-218 120 4-M20x25P 28 43 838 785 78 165 7 -16 62 22 425 5 M130x2P 48 66.5 165 171.4
OP-212BH 3-M16x2P 93 6-M16x2P 27 30 63.7 58.7 4555 1255 865 -13.05 50 21 26 2 M103x2P 50 51 129
. _ _ miTig = - BRARTE -
B /1848 BLES HETE (B sooms DAL BABRETD O EBES ss . 0%, B _ miTig - =2z BAREE
MODEL v Thru-Hole Plunger Jaw Stroke ﬁ;_’gﬁfgj Max. Pull - Max. Gripping  \ay Hydr. v(/?'ih BRG] AU %ﬁﬁ )=t @Es TETE () s=gEs BRI BRI S BE i T ETE
/ SPEC. [Diameter] ~Stroke [Diameter] peeq Force Force Pressure eight  Matching ripping B /s 8 + Plunger - REEER  Max. Pull Max. Gripping / U SHETIRYSE D
(mm) (mm) ) rp-m.(MinY) ot T(KN) kgt (KN) kgflem®  (Mpa) (kg)  Cylinder Range I}/Ié)gEECL [TDf:;Lrln';fe'% Stroke fg‘i/;rig?elﬁ Max.Speed Force Force M;X- Hydr.  Weight Matching ~ Gripping
: 0.m.(min-" ressure k ; R
OP-204 - 26 10 5.4 8000 1428 (14) 2850 (28) 24 (23) 38 P0928 07~0110 (mm) (mm) (mm) rpm.(min’) - kgf  (KN)  kgf  (KN) kgficm®  (Mpa) (kg) Cylinder ange
OP-205 - 33 10 5.4 7000 1730 (17) 3570 (35) 29 (28) 6.1 P1036 210~0135
OP-206 - 45 12 5.5 6000 2140 (21) 5710 (56) 28 (2.7) 125 P1246 213~0169
OP-208 104.8 52 16 7.4 5000 3360 (33) 8360 (82) 26 (25) 21.9 P1552 013~0210 OPF-206 45 12 55 4500 1630 (16) 4180  (41) 21 (21) 142 P1246 022~0169
OP-210 133.4 75 19 8.8 4200 4280 (42) 11010 (108) 27 (2.6) 337 P1875 2930~0254 OPF-208 52 16 7.4 3600 2440 (24) 6010 (59) 19 (1.9) 245 P1552 025~0210
OP-212 -- 91 23 10.6 3300 5500 (54) 14380 (141) 27 (2.6) 553 P2091 035~0304
OP-215 171.4 117.5 23 10.6 2500 7140 (70) 18250 (179) 245 (24) 106.8  P2511 035~0381 OPF-210 75 19 8.8 3200 3160 (31) 8050 (79) 20 (20) 381 P1875 028~0254
OP-218 171.4 120 23 10.6 2000 7140 (70) 18250 (179) 245 (2.4) 152 P2511 240~0450 OPF-212 91 23 10.6 2500 4080 (40) 10400 (102) 20 (2.0) 605 P2091 235~0304
OP-221 235 180 23 10.6 1700 9080 (89) 23760 (233) 31.5 (3.0) 195.2 P3420 2115~0530
OP-224 3302 205 26 12 1400 9080 (89) 23760 (233) 315 (3.0) 269.4  P3420 0140~0610 OPF-215  117.5 23 106 1800 5400 (53) 13600 (134) 19  (1.9) 111.5  P2511  063~0381
OP-210BH ERiEas 2 Lot 2 42001 4280 42)L 11010 (108) 27 (26) 367  P1s78 SELAT OPF-218 120 23 106 1500 5400 (53) 13600 (134) 19  (1.9) 1645  P2511  080~0450
OP-212BH - 93 21 10 3300 5500 (54) 14380 (141) 28 (27) 574 P2093 035~0304

10



OP' I_ OPT‘ I_ LONG STROKE HOLLOW POWER CHUCKS

hZE R 1T HERZRER

SUPER HIGH SPEED HOLLOW ROTARY HYDRAULIC CYLINDERS

=0 388 O ZE 5 [BR 58 8 R T
L: 01T
L :Longer stroke

R Y & > Dimensions R Y & > Dimensions
|W U Vl IW U V|
Q E1 Ri| Al B1 z E B _ A B Z F2
& w w T = |
e Ve wi ) a
T T lf——j T1 e
e o E] e =] Al
= 3] FIN7°7'30" =| | =T B P = = O = ol w a = o
a0° a0 xoﬁz% ; <o E:% ) e EERE TR miah R E R RN PRI PR R
- 4 = PN e P = Sl \_hao ol 0| < T [ y
- ws||| ISIRSIS] - uS!” Q| QlQ Y §§ =
30° 30° @L . &L = ‘ 2Es = g 2X2-S1 | ™
- I — N 2X2-81 F1 \H
[N\ K o n
— PT1 /B9 2
; Fl K [ ElL] les PT1-1/4" / 8
H 3 E L E1 - " 1[40
OPT.L & B B Gl P2816,P3420 £l G
#3218 5= > Specifications ESfiI/UNIT:mm #7 #% = > Specifications ESfi7/UNIT:mm
B /FEE TR BUT /3RS
MODEL Nose Of A B (r% D E E1 F G H H1 " MODEL A1 B1 CcC C1 D Di (hE7) E1 F F1 F2 G G1 H J J1 K K1 L1
/ SPEC. Spindle / SPEC.
P0928 9 109 120 25 100 -- 80 8-M5x0.8P 60 6-M8x1.25P -- 45 114 M38x1.5P 28 60 25 46 15
OP-206L A5 173 87 140 82.563 15 - 5 116 104.8 PCDo90 3-M8x1.25P P1036 11 120 136 25 115 - 100 6-M5x0.8P 65 6-M10x1.5P - 48 126 M42x1.5P 36 68 32 46 15
OP-208L Az-6(A=-5) 215 103 170 106.375 17 23 5 150 133.4 PCDo120 3-M8x1.25P P1246 12 126.5 155 30 130 -- 100 6-M6x1P 80 12-M10x1.5P - 65 133 M55x2P 46 76 36 46 15
OP-210L A:-8(Ax-6) 256 112 220 139.719 18 28 5 190 171.4 PCDo160 3-M12x1.75P P1552 12 136 190 30 170 -- 130 6-M6x1P 85 12-M10x1.5P -- 70 145 M60x2P 52 87.5 36 46 15
OPT-206L A--5 173 87 140 82.563 15 - 5 116 104.8 PCDg145 6-M10x1.5P P1875 17.5 1545 215 35 190 -- 160 6-M6x1P 125 12-M10x1.5P - 95 163.5 M85x2P 75 101 36 46 15
OPT-208L  A-6(A:-5) 215 103 170 106.375 17 >3 5 150 133.4 PCDo180 6-M10x1.5P P1878 17.5 154.5 215 35 190 -- 160 6-M6x1P 125 12-M10x1.5P - 98.5 163.5 M87x2P 78 101 36 46 15
e 7 5(AG 56 1o 20 139719 is o8 190 1714 PCDo22 6.M12x1 75 P2091 21 168 240 35 215 -- 180 6-M6x1P 140 12-M12x1.75P -- 110 183 M100x2P 91 110 36 46 15
3 -8(A=-6) 5 : 5 : 2225 -M12x1.75 P2093 21 168 240 35 215 -- 180 6-M6x1P 140 12-M12x1.75P -- 115 183 M103x2P 93 110 36 46 15
BRI 4EAS P2511 27 191 310 45 275 -- 230 6-M6x1P 166 12-M16x2P -- 140 218 M130x2P 117.5 135 40 46 15
MODEL Ho 12 J K L M N N 0 o) P2816 22 201 345 45 298 305 260 6-M8x1.25P 220 12-M12x1.75P 12-M16x2P 195 229 M180x3P 166.5 180 50 60 15
1 SPEC max. min. max. min. P3420 22 223 405 45 360 -- 320 6-M8x1.25P 260 12-M20x2.5P -- 235 247 M220x3P 205 210 50 60 20
: P2816L 22 217 345 45 298 305 260 6-M8x1.25P 220 12-M12x1.75P 12-Mi16x2P 195 245 M180x3P 166.5 180 50 60 15
OP-206L PCDg@140 3-M8x1.25P 45 6-M10x1.5P 15 20 39.07 33.46 21.05 10.55 F—
OP-208L PCDg170 3-M8x1.25P 52 6-M12x1.75P 21 25 47.85 39.66 25.05 13.05 IVIIO{DEL M M1 N NI P P1Q Q1 R1 S St T MU Ul Vv V W Wi W X
OP-210L PCD@220 3-M12x1.75P 75 6-M16x2P 22 30 61.34 52.06 29.05 12.55 / SPEC. max.  min.  max. min.
OPT-206L - - 45 6-M10x1.5P 15 20 39.07 33.46 21.05 10.55 P0928 34.6 34 44 53 59 4 64.8 4-M4x0.7P(PCDo76) 5 95 PT1/4 105 4 159 137 9.05 -0.95 33.95 M34x1.5P 23.95 31.8
OPT-208L -- - 52 6-M12x1.75P 21 25 47.85 39.66 25.05 13.05 P1036 446 38 55 64 73 6 80 4-M5x0.8P(PCD@88) 5 105 PT3/8 115 6 179 154 10 -5 39 M44x1.5P 24 42
OPT-210L - - 75 6-M16x2P 22 30 61.34 52.06 29.05 12.55 P1246 529 50 64 76 85 4 90 4-M5x0.8P(PCD@98) 6 116 PT1/2 115 6 184 172 10 -5 40 M52x1.5P 25 50
- - . P1552 596 55 73 85 96 4 102 4-M6x1P(PCDe110) 7 137 PT1/2 130 6 196 210 17 -5 47 M58x1.5P 25 56
BUS /RS BILEE  FETRE P1875 846 80 98 108 121 4 131 4-M6x1P(PCDo155) 7 165 PT1/2 160 4 230 235 20 -5 50 M84x2P 25 81
“MODEL P P Q R s T U v W X v Thru-Hole  Plunger P1878 846 83 98 108 121 4 131 4-M6x1P(PCDo155) 7 165 PT1/2 160 4 230 235 20 -5 50 M84x2P 25 81
SPEC max. min. [Diameter]  Stroke P2091 996 95 108 120 138 4 147 4-M6x1P(PCDwo165) 7 180 PT1/2 185 6 253 260 25 -5 55 M99x2P 25 96
: (mm) (mm) P2093  99.6 100 108 120 138 4 147 4-M6x1P(PCDo165) 7 180 PT1/2 185 6 253 260 25 -5 55 M99x2P 25 96
P2511  134.6 125 148 160 178 5 184 4-M6x1P(PCD0206) 7 230 PT1/2 210 7 304 302 24 -6 55 M134x2P 25 130
OP-206L 11 -4 31 12 19 2 MS55x2P 20 37.5 73 - 45 15 P2816 185 176.5 210 224 244 5 250 6-M6x1P(PCD@275) 7 310 PT3/4 262.5 -- 308 -- 24 -6 65 M185x3P 35 180
OP-208L 14.5 7.5 35 14 20.5 2 M60x2P 30 39.5 95 104.8 52 22 P3420 225 210 250 264 284 5 290 6-M6x1P(PCDo315) 7 365 PT3/4 300 6 334 -- 36 -6 77 M225x3P 35 220
OP-210L 8.5 -16.5 40 16 25 2 M85x2P 40 43 110 133.4 75 25 P2816L 185 176.5 210 224 244 5 250 6-M6x1P(PCDo275) 7 310 PT3/4 2625 6 324 -- 36 -6 77 M185x3P 35 180
OPT-206L 11 -4 31 12 19 2 M55x2P 20 37.5 73 - 45 15 e == : = = -
o = = = SEEE RAHERD A
OPT-208L 14.5 7.5 35 14 20.5 2 M60x2P 30 39.5 95 104.8 52 22 AT /HEAS Epiggﬂi ESEEE EEET ﬁ(’)'%nténlt Oil {EHEEN Piston Area(cm?) Max. Operating Force mE
OPT-210L 8.5 -16.5 40 16 25 2 M85x2P 40 43 110 133.4 75 25 MODEL z St?o?(g Max. Speed  Piston 1% 5. Leakage Max. HEE HIOE) HETDAI R Weight
/ SPEC. (mm) r.p.m.(min") Dia(mm) (kg-m?) Rate Pressure Push Pull Push Side Pull Side (kg)
M7 248 BAERE AR E R (1/min) kgffem® (Mpa)  side Side kgf (KN) kgf  (KN)
BT RS (BE) BEmEE Max. Pull Max. Griooin SHEE) 3PE mEEIAs  USEE P0928 5 10 8000 90 0.008 3.0 40  (3.9) 54 475 2000 (19.6) 1750 (17.2) 6.5
MODEL Jaw Stroke Max.Speed For E pping Max. Hydr. Weight "Matching Gripping P1036 5 15 8000 105 0.012 3.0 40 (39) 70 68 2500 (24.5) 2400 (23.5) 9.0
/SPEC. [Diameter] RN orce orce Pressure (kq) atching Range P1246 5 15 7000 125 0.019 3.0 40  (3.9) 100 89 3700 (36.2) 3200 (31.3) 11.9
(mm) r.p-m.(min"") kgf  (KN) kgf  (KN) kgflem? (Mpa) 9 Cylinder 9 P1552 5 22 6200 155 0.053 3.9 40 (3.9 160 150 5900 (57.8) 5500 (53.9) 17.3
P1875 5 25 4700 180 0.096 4.2 40 (3.9 198 183 7200 (70.5) 6700 (65.6) 26.1
OP-206L 10.8 4300 2140 (21) 4080  (40) 28 (2.7) 14.9 P1246 220~0173 P1878 5 25 4700 180 0.096 42 40 (3.9) 198 178 7200 (70.5) 6500 (63.7) 25.5
OP-208L 16 3500 3360 (33) 5910 (58) 26 (2.5) 37 P1552 025~0215 P2091 5 30 3800 205 0.16 4.5 40 (8.9) 252 235 9200 (90.1) 8600 (84.3) 33.3
OP-210L 18 3000 4280  (42) 7540 (74) o7 2.6) 20.6 P1875 040~0256 P2093 5 30 3800 205 0.16 45 40 (39) 252 226 9200 (90.1) 8313 (81.5) 32.9
S5 ol 08 4300 1200 (14 o650 (26 is e 14 Pioac 50-0173 P2511 6 30 2800 250 0.5 7.0 40 (3.9) 348 336 12400 (121.5) 12000 (117.6) 63.0
5 - (14) 50 (26) 5 (18 -5 020~0 P2816 6 30 2000 280 1.6 11 40 (39) 346 317 11700 (114.7) 10500 (103) 96.3
OPT-208L 16 3500 2240  (22) 3870  (38) 17 (1.7) 26.4 P1552 225~0215 P3420 6 42 1600 340 3.2 14 35 (3.6) 510 474 14300 (140.2) 13300 (130.4) 138.5
OPT-210L 18 3000 2850 (28) 4990  (49) 18 (1.8) 39.5 P1875 040~0256 P2816L 6 42 2000 280 1.6 11 40 (39) 346 317 11700 (114.7) 10500 (103) 100.6

MBI IZ%E- B /] : 30kgf/cm?(2.94Mpa) SHif : 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C

11



PA HIGH SPEED COMPACT HOLLOW ROTARY HYDRAULIC CYLINDERS
HESE B 558 0P 25 H BR 0 §5 &1

F'S HIGH SPEED COMPACT HOLLOW ROTARY HYDRAULIC CYLINDERS

- 3 s R
58 B 5 5 O 25 R S A a~

R < B > Dimensions

R < B > Dimensions

\%
W U Vv Y
R1 Al B1 z
7 l"' F2
! E1
£ -ﬁ - "“"‘E?F W1
K T
= 1
) - |
0wl olaol S had RV ) = %] (28 ot e o e} =
B e I e e 3 8882558 3
= -

s—L 4
=S

PT1

PT1/ b26
61| Gt |
*8 1% 52 > Specifications BEf{I/UNIT:mm #2 1& & > Specifications EBEf/UNITmm
RIS /3948 E RIS /1948 E
MODEL A1 B C C1 D DI E1 F F1 F2 G Gf H J U MODEL A1 Bt C ¢ D DI 4 Ef1 F F1 F2 G Gi H J
/ SPEC. / SPEC.
F10338 9 1071 140 25 125 125 110 6-M6x1P 65 6-M10x1.5P 6-M8x1.25P 45 1105 M38x1.5P 33 67.5 E— 6 805 165 25 147 147 130 6MexiP 75 12-M1Ox15P 6.M8xi25P 65 86  M5SxoP 46
F1036S 9 1071 140 25 115 125 100 6-M5x0.8P 65 6-M10x1.5P 6-M8x1.25P 48 1105 M42x1.5P 36 67.5
F1246S 9 1177 165 30 130 147 100 6-M6x1P 80 6-M10x1.5P 6-M8x1.25P 65 117  M55x2P 46 80 PA1452 8 90 183 30 165 165 140 6-M6x1P 80  6-M10x1.5P 6-M8x1.25P 70 935 M60x2P 52
F15528 9 1257 190 30 170 170 130 6-M6x1P 85 12-M10x1.5P 6-M8x1.25P 70 125 M6Ox2P 52 Of R
F1875S 116 143 215 35 190 196 160 6-M6x1P 125 12-M10x15P 6-M10x1.5P 95 143  M85x2P 75 107 SREea 105 1009 215 35 195 195 160 G6-M6xIP 105 12-M10x1.5P 6-M10x1.5P 95 111 M85x2P 75
BT /AR BT /AR
MODEL K Kt L1 M N N P Pl Q Q1 R1 s St T T U MODEL J1 K Ki L1 M N Nt P Pl Q Qi R1 S S1 T T
/ SPEC. / SPEC.
=W 38 46 15 35 49 62 270 4 74 AMXOSBP(PCDeS3) 6 103 PT14 N5 6 1581 PA1246 80 40 46 15 50 64 76 85 9 90 4-M5x0.8P(PCDo98) 105 121 PT3/8 120 12
F1036S 38 46 15 38 55 64 73 4 79 4-M5x0.8P(PCDe88) 10 103 PT3/8 115 6  158.1
F1246S 40 46 15 50 64 76 8 4 90 4-M5x0.8P(PCDo98) 105 121 PT1/2 125 6 164.2 PA1452 90 40 46 15 55 73 85 96 8 102 4-MexIP(PCDei10) 105 137 PT3/8 130 12
F1552S 40 46 15 55 73 85 96 4 102 4-M6xIP(PCDe110) 105 137 PT1/2 140 6 1722
F18755 40 46 15 80 98 108 120 4 126 4-MexIP(PCDo155) 105 165 PT1/2 170 4 197.3 BANGE 106 46 46 15 80 98 108 120 9 126 4M6xIP(PCDe155) 105 165 PT12 160 12
AT /4R EE(TIE seoms  pEmg  UEL RIZ /4% EEITE pELEE  EEEC
MODEL U1 v V W Wi1 W X1 Piston Stroke ~Z  Max.Speed Piston Dia of Inertia MODEL U U1 \ V W W1 W X1 Z Piston Stroke Max.Speed Piston Dia
/SPEC. max. min max. min (mm) r.p.m.(min"") (mm) (kg-m?) / SPEC. max..mn max. min (mm) r.p.m.(min"") (mm)
F1033S 160 10.05 -495 398  M39x1.5P 248 37 15 5 8000 105 0.012 PA1246 120 183 13 -3 45 M52x1.5P %9 198 8 16 8000 128
F1036S 160 10.05 -4.95 438  M44x1.5P 288  41.8 15 5 8000 105 0.012
F1246S 180 10.05 -4.95 4425 M52x1.5P  29.25  49.8 15 5 7000 125 0.019 PA1452 138 201 11 -11 535 M58x1.5P 315 558 8 22 6500 145
F15528 205 17.05 -4.95 50.15 MS58x1.5P 28.15 55.8 22 5 6200 155 0.053 oA ” » . ViBop -
F18755 231 2005 -495 5315  M84x2P 2815 80.8 25 5 4700 180 0.096 REEl 165 233 ; X 808 8 25 5500 170
‘ L R EEE BAKE (1) 77 _ - e N EEE BAKE (1) 77
E%v%ggﬁ% o mE RaFAE] Piston Area (cm2) Max. Operating Force PE %igggi% Moment o e ReEREN Piston Area (cm2) Max. Operating Force
il Leakage Rate Max. Pressure N ) N ) Weight ; il Leakage Rate Max. Pressure N ) N )
/ SPEC. (I/mii) kglom?  (Mpa) HETIE WALl HEBIPush Side  HI/3fBIPull Side (kg) / SPEC. ng'”izﬁ')a (|/mign) kgflem®  (Mpa) HETI Al ] #BIPush Side  #1/38IPull Side
Push Side  Pull Side kgt (KN) kgt (KN) g Push Side  Pull Side kgt (KN) kgt (KN)
_ F1033S 3.0 40 (3.9) 74 70 2600  (25.5) 2500  (24.5) 8.2 PA1246 0.02 3.0 46 (4.5) 1035 92 4250  (41.6) 3800 (37.5)
F1036S 3.0 40 (3.9) 70 68 2500  (24.5) 2400 (23.5) 8.4
F1246S 3.0 40 (3.9) 100 89 3700  (36.2) 3200 (31.3) 1.5 PA1452 0.035 3.9 46 (4.5) 134 123 5500  (53.9) 5100  (50)
F1552S 3.9 40 (3.9) 160 150 5900  (57.8) 5500  (53.9) 15.4 R
BECC R 4o 20 (3.9) 198 183 7200 (705) 6700  (65.6) 599 PA1775 0.065 4.2 46 (4.5) 165 151 6800 (66.7) 6300 (61.8)
B IZHE B /] : 30kgf/cm?(2.94Mpa) Hif : 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C A BIFEE-EE /) : 30kgf/cm?(2.94Mpa) S#iR: 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C

13




R Y B >» Dimensions

4
D.LARGE THROUGH HOLE 3-JAW HIGH SPEED POWER CHUCKS

KILE=/M
= R P Z25H[EX 22 0R

188 S5  EENEUEE - EENEMDEE - ZaSEE/ )2l
C ESERDEERT - TLFESSMEE
2. KBVE@E3ILE « A3LT

HEII T EE3L1

$33q
=

BYEEEIZI0 -

3. Z=1EIE - NEIEOIREERET - IRZEsE BRSO RITHETD -

R Y B > Dimensions

#2 1% & > Specifications
BT /R4S

N| <

R

oU1

LARGE THROUGH HOLE THIN HOLLOW ROTARY HYDRAULIC CYLINDERS

RK3LEFE
Z25H BRSO 85 1

1.Thin & Lightweight:
Thin outer structure makes the weight
lighter than the traditional rotary cylinders;
meanwhile, the compactness and miniaturization
lower the burden of machines.

2.Large Thru-hole Diameter:
With large open center, gripping range of Bar
stock can be increased.

3.Built-in Check Valve:
With built-in " check valve", work pieces can be
effectively prevented from flying out during
abrupt failure of pressure.

BE{iI/UNIT:mm

W W
- L LT
ny o
x| =l Ferd u = |\ 77300
o FEH L= O FEH= )
SIIP >fol < S [>fal o o] <
Ql el @ Q Q Ql o @
Qo > T
%LE e %Lﬁ it R
\
_[F\k Fl] -
B E|lL E1
B B
#2 #& & > Specifications EE{i[/UNIT:mm
BT /3RS FEh 2R
MODEL Nose Of A B (h6) D E E1 F G H J K
/ SPEC. Spindle
OPB-206 A5 170 81 140 082.563 -- 20 5 -- PCDg122 52 6-M10x1.5P
OPB-208 A6 215 91 170 0106.375 - 22 5 - PCDg@150 66 6-M12x1.75P
OPB-210 A:-8 256 100 220 2139.719 -- 28 5 -- PCDg180 81 6-M16x2P
OPB-212 Az-11(A2-8) 315 108 300 ©196.869 22 33 5 260 PCD@235 106 6-M20x2.5P
OPB-215 Ae-15(A=-11) 405 133 380 0285.775 27 41 6 330.2 PCD@330.2 142 6-M24x3P
OPB-218 Ac-15(Ax-11) 455 134 380 0285.775 27 41 6 330.2 PCD@330.2 166.5 6-M24x3P
BT /3818
MODEL L M N 0 O P Q R s T U
/ SPEC max. max. min. min.
OPB-206 - 20 36.35 21.1 9.1 -5 31 12 23 2 M60x2P
OPB-208 - 25 46.6 26.6 11.6 -6 35 14 25 2 M75x2P
OPB-210 - 30 54.6 33.1 13.6 8.5 -10.5 40 16 25 2 M90x2P
OPB-212 27 30 69.7 45.6 12.6 -15 50 21 28 2 M115x2P
OPB-215 32 43 95.1 43.55 16.55 -15 62 22 42.5 5 M155x2P
OPB-218 32 43 108.29 102.45 55.55 16.55 11.5 -13 62 22 38 5 M180x3P
BU5 /HRA8 LB HETE miTie (B1%) R QiR
MODEL \% W X Y Thru-Hole Plunger Stroke Jaw Stroke Max.Speed
/ SPEC. [Diameter] (mm) (mm) [Diameter] (mm) r.p.m.(min")
OPB-206 20 37.5 73 104.8 52 12 5.5 6000
OPB-208 30 39.5 80 133.4 66 16 7.4 5000
OPB-210 40 43 110 171.4 81 19 8.8 4200
OPB-212 50 51 129 171.4 106 23 10.6 3400
OPB-215 80 66 165 235 142 23 10.6 2500
OPB-218 80 66 165 235 166.5 24.5 11.3 2000
‘ RAAI] RARBRREN AR EHEREN g f5ic S EE
BT, /RRAS Max. Pull Max. Gripping Max. Hydr. e SHEEEI SR o #B
MODEL Force Force Pressure i'g t Matching erpplng
/ SPEC. kaf  (KN) kgf kgtlem*  (Mpa) (kg) Cylinder ange
OPB-206 2200 (21.5) 5900 21 (2.0) 12.3 P1452S 013~0170
OPB-208 3400 (33) 8800 26 (2.5) 21.7 P1666S 050~0215
OPB-210 4300 (42) 11100 29 (2.8) 33.6 P1881S 034~0254
OPB-212 5600 (55) 14580 29 (2.8) 57.7 P2110S 050~0315
OPB-215 7240 (71) 18250 26 (2.5) 122.5 P2816 060~0405
OPB-218 7240 (71) 18250 26 (2.5) 165 P2816 080~0455

e Bl FUESE- ] : 30kgf/cm?(2.94Mpa) Sl : 50°C

MODEL A1 B1 C1 D D1 (hE7) E1 F1 F2 G G1 H

/ SPEC.

P1452S 9 109.2 30 165 165 140 M6x1P 6-M10x1.5P 6-M8x1.25P 70 113.9 M60x2P

P1666S 9 120.7 35 190 190 168 M6x1P 12-M12x1.75P 6-M10x1.5P 85 1254 M75x2P

P1881S 10.7 133.7 35 205 205 168 M6x1P 110  12-M12x1.75P 6-M10x1.5P 100 139.2 M90x2P

P2110S 12 152.2 35 240 240 200 M6x1P 135 12-M12x1.75P 6-M12x1.75P 125 158.5 M115x2P
BT /3848

MODEL H1 J K K1 L1 M1 N N1 P P1 Q Q1 R1 S S1 T T

/ SPEC.

P1452S 120 52 40 46 15 55 73 85 96 4 102 Meéx1P 105 137 PT 1/2 130 4

P1666S 145 66 40 46 15 70 88 100 111 4 117  Meéx1P 105 161 PT 1/2 150 5

P1881S 166 81 40 46 15 85 103 113 126 4 1832 M6x1P 105 176 PT 1/2 175 5

P2110S 201 106 40 46 15 110 1833 145 160 4 166 M6x1P  10.5 210 PT 1/2 200 5
AT /4548 SEEITE R DR EEER

MODEL u Ui W W1 W X1 Z  Piston Stroke  Max.Speed  Piston Dia

/ SPEC. max mn (mm) r.p.m.(min") (mm)

P1452S 155.7 201 48.2 M58x1.5P 28.2 55.8 5 20 6500 145

P1666S 170.2 229 50.2 M74x1.5P 28.2 71.8 5 22 5600 165

P1881S 189.2 240 53.2 M89x2P 28.2 85.8 5 25 4800 180

P2110S 216.7 284 58.2 M118x2P 28.2 114.8 8 30 3500 210

~ EMEseT o _ SEEEE BAMHE (HI) 73 -
%ig/g;gﬁ% Moment RafEAE] Piston Area (cm2) Max. Operating Force PE
i Oil Leakage Rate Max. Pressure N ) N ) Weight
ISPEC. oty J katlom® - (Mpa) #OF SIOF #70BIPush Side  HIJEIPUISide (kg)
Push Side Pull Side kgf (KN) kgf (KN)

P1452S  0.035 40 3.9) 137 126 4860 (47.6) 4464  (43.7) 12.3

P1666S 0.07 40 3.9) 170 157 6048 (59.3) 5580 (54.7) 17.4

P1881S 0.09 40 3.9) 191 175 6804 (66.7) 6264 (61.4) 21.9

P2110S 0.20 35 3.4) 232 2235 6900 (67.6) 6650 (65.2) 35.8

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C



17

B I\ HEEZET

BRITVUHBIRE(FE O AT E IR0 &AL - TIHFAE

R F#RAFEYN0T -

1 ERAITVRENS THSRAnEEEE T - FEREFIEE - BIRELH -

2 BB EHETE - I REIER - WEREERISTHEEEE -

3. EMEBEPIN IR TR SR - EREERRZEN
IT&EH -

4. OIERAEINHEAE - BSEEERIE ©

R Y B > Dimensions

PULL BACK POWER CHUCKS

F o EARS

Pull back feature of radial gripping will lead to
almost no work piece uplifting displacement;
CHANDOX Pull Back Power Chucks are ideal

— MR EHERZZE

R Y B > Dimensions

CI.. 2-JAW SOLID POWER CHUCKS

J P_,_S e - ; W w
e ]_ for machining casting and forging parts; ﬁk Tk B s T p s
:%E[ 1. By appressing the gripped work piece to the @ 60 w15y I M. | 5Y J_
| L& o surface, CHANDOX Pull Back Power Chucks = | i —— = ol | [T o
] > /M are suitable for heavy machining. @' Moo | o=t /‘““"-"rq
- 2. Chuck Actuators with cylindrical structure are | 30° z : P hl
i ] % durable and ensures high gripping repeatability. _ _ L 3 - :'____ L
—— 3. Accurate self-centering and pull back features i
< 8 Q are adequate for precise length control ! 30° - = { | 77eg Q u/ i EI%
[ 7°730" machining requirements. s 5 A =y ole A=
N 4. Optional components can be selected for ot N “‘l“‘ * \K
e detecting the right position on an automated | |
L loading machine. ——EJ_ W -
n H
#5718 72 > Specifications EBSI/UNIT:mm *8 1% & > Specifications EBEfiI/UNITmm
AU AU e
IM%/D*’EF A B c D E F G G H J J IMigg’Eﬁg Iﬁﬂgggﬁéﬁ Rz A B C D E El F G H J
/ SPEC. max. min. max. min. / SPEC. Spindle (h6)
PL-06 169 83 140 82.563 15 5 15 5 70 46 36 CLT-06 Ax-5 165 74 140 82.563 15 - 5 116 104.8 21
PL-08 210 97 170 106.375 17 5 16.5 6.5 84 57 47 CLT-08 Ax-6(A2-5) 210 85 170 106.375 17 23 5 150 133.4 25
PL-10 254 110 220 139.719 18 5 22 6 100 68 52 CLT-10 Ax-8(A:-6) 254 89 220 139.719 18 28 5 190 171.4 34
PL-12 304 125 220 139.719 18 5 215 5.5 120 725 56.5 CLT-12 A-8 304 106 220 139.719 18 - 6 190 171.4 34
BT /FRAS BT /AR
Ly K L M N N P P Q R Py L M N N o o P P Q R s
/ SPEC. max. min. max. min. | SPEC. max. min. max. min. max. min.
PL-06 - 6-M10x1.5P 14 104.8 56.65 54 33 23 35 32 CLT-06 6-M10x1.5P 19 20 37.8 33.25 15.1 9.1 101.5 81.5 31 12 36
PL-08 26 6-M12x1.75P 17 1334 69.65 67 38 28 40 38 CLT-08 6-M12x1.75P 18 25 46.3 41.9 221 10.1 127 106 35 14 36
PL-10 32 6-M16x2P 24 1714 87.8 82 48 32 50 50 CLT-10 6-M16x2P 25 30 51.4 47 30.6 9.6 158 133 40 16 36
PL-12 36 6-M16x2P 20 1714 102.8 97 47 31 60 52 CLT-12 6-M16x2P 20 30 60.7 55.45 48.6 12.6 163 133 50 18 36
BT RR18 HETE miTiEER ReZiER BAALIN] BT /R4S HETE miTRE (Bf) RegiER
MODEL S U Plunger Stroke Jaw Stroke Max.Speed Max. Pull Force MODEL T U v w X Y Plunger Stroke Jaw Stroke Max.Speed
/ SPEC. (mm) (Diameter) mm r.p.m.(min) kgf  (KN) / SPEC. (mm) [Diameter] (mm) r.p.m.(min")
PL-06 36 M16x2P 10 5.3 3500 1420 (14 CLT-06 4 M16x2P 34 39 73 - 20 8.5 5000
PL-08 36 M20x2.5P 10 5.3 3000 2240  (22) CLT-08 5 M20x2.5P 38 42 95 104.8 21 8.8 4000
PL-10 46 M24x3P 16 11.6 2500 3160 (31) CLT-10 5 M20x2.5P 45 46 110 1334 25 8.8 3500
PL-12 50 M27x3P 16 11.6 2000 4480 (44) CLT-12 5 M20x2.5P 50 54 129 -- 30 10.5 3000
BT /3RA8 SUN-DSEYN BRAREHERE FE fEBCHEREI YR RE5EIE BT /3RS BRANLT] BRAREREF BRAEEHERE] BE fEie BT ESR RIFEE
MODEL Max. Gripping Force Max. Hydr. Pressure Weight Matching Gripping MODEL Max. Pull Force Max. Gripping Force Max. Hydr. Pressure Weight Matching Gripping
/ SPEC. kgf (KN) kgficmz  (Mpa) (kg) Cylinder Range / SPEC. kgf (KN) kot (KN) kgflcm?  (Mpa) (kg) Cylinder Range
PL-06 2950 (29) 22 2.2) 15.4 L1020 #35~0160 CLT-06 1220 (12) 3460 (34) 17 1.7) 1.1 L1020(L1020R) 29~0165
PL-08 4890 (48) 22 2.2) 27.8 L1225 240~2210 CLT-08 1630 (16) 4990 (49) 16 (1.6) 21.3 L1225(L1225R) 912~9210
PL-10 4990 (49) 30 (2.9) 45.9 L1225 #50~2254 CLT-10 1930 (19) 7140 (70) 19 (1.9) 326 L1225(L1225R) 915~0254
PL-12 7240 (71) 30 (2.9) 75.7 L1530 250~2304 CLT-12 2750 (27) 10300 (101) 20 (2.0) 57.0 L1530(L1530R) 220~2304

18



= /MNP &EHERZZE

R Y B > Dimensions

3-]AW SOLID POWER CHUCKS

C I.' D P 3-JAW SOLID POWER CHUCKS

,_\AL.T P S T P S
—r= (P) (P)
] (CL-05) - i (CL-05)
s L A= || s
o] B o-[TEi) ;ﬁrg
< o Z j’\ . zZ j’] .
= A I e =H-= 13 =
\‘ j w T \y S + L Ly \9
@@ @*@30“ Q g | D
\@,_!@, . ﬁ s %l‘é 1 T L%}_&l %l‘é L—Fl ﬁ
@i = i BEs
LN\ K
[ ) 1E N\« Ell] K —
15" 15° B =M E| #
22 E1
e B (L)
g]::gg CL-15,18 &Y (CL-05) B |
el
#3 #% & > Specifications EE{TI/UNIT:mm
AR /FEE  FEEinRER
MODEL N0_59 Of A B (r%) D E E1 F G H J K L M
/ SPEC. Spindle
CL-05 A4 135 55 80 63.513 -- -- 7 -- 100 -- 3-M8x1.25P 14 14
CL-06 Ax-5 165 74 140 82.563 15 -- 5 116 104.8 21 6-M10x1.5P 19 20
CL-08 Ax-6(A=-5) 210 85 170 106.375 17 23 5 150 133.4 25 6-M12x1.75P 18 25
CL-10 A:-8(A=-6) 254 89 220 139.719 18 28 5 190 171.4 34 6-M16x2P 25 30
CL-12 A:-8 304 106 220 139.719 18 -- 6 190 171.4 34 6-M16x2P 20 30
CL-15 A-11 381 114 300 196.869 22 -- 6 260 235 -- 6-M20x2.5P 32 43
CL-18 Ax-11 450 114 300 196.869 22 -- 6 260 235 -- 6-M20x2.5P 32 43
AR/ 5RAS
ol N o ) P P Q R s T U v WX Y
/ SPEC. max. min. max. min. max. min.
CL-05 30.4 27.2 171 9.6 9 -6 25 10 35 2 M12x1.75P 28 31 62 --
CL-06 37.8 33.25 15.1 9.1 101.5 81.5 31 12 36 4 M16x2P 34 39 73 --
CL-08 46.3 419 22.1 10.1 127 106 35 14 36 5 M20x2.5P 38 42 95 104.8
CL-10 51.4 47 30.6 9.6 158 133 40 16 36 5 M20x2.5P 45 46 110 133.4
CL-12 60.7 55.45 48.6 12.6 163 133 50 18 36 5 M20x2.5P 50 54 129 --
CL-15 69.05 60.97 58.05 40.05 104 69 62 25.5 55 7 M30x3.5P 60 68 165 --
CL-18 99.46 91.38 58.05 40.05 92 57 62 25.5 55 7 M30x3.5P 60 68 165 --
ﬁ’_ - m?ﬁ'ji = 7(?\_77] = Ki_mT%jj %j{?‘ii ;Ea
waggs HECOE (Em)  mmemx OG0 WO BEED  2E pmiwg 00 EEE
MODEL Faunger  Jaw Stroke  Max.Speed Force Forcgp g Max. Hydr.  weight "Matching Gripping
/ SPEC. Stroke  [Diameter]  r.p.m.(min") Pressure (k9) i 9 Range
(mm) (mm) kgf (KN) kgf (KN) kgf/cm? (Mpa) Cylinder
CL-05 15 6.4 5500 800 (7.8) 2450 (24) 25  (2.5) 6 L0815 08~0135
CL-06 20 8.5 5000 1730  (17) 5200 (51) 25  (25) 114  L1020(L1020R)  018~@165
CL-08 21 8.8 4600 2440 (24) 7440 (73) 25  (25) 219 L1225(L1225R)  ©12~0210
CL-10 25 8.8 4000 2850 (28) 10810 (106) 29  (28) 334 L1225(L1225R)  016~0254
CL-12 30 10.5 3200 4080 (40) 15500 (152) 29 (2.8) 585 L1530(L1530R) 018~0304
CL-15 35 16 3000 8260 (81) 25290 (248) 32 (3.1) 100.6 L2035(L2035R) 068~0381
CL-18 35 16 2700 8260 (81) 25290 (248) 32  (31) 1343 L2035(L2035R) ©100~0450

19

— —— 9 —
— < [ |
R Y B » Dimensions
T P s - P s
— -
= e
e | 2 e
| el
’&> <]
FBH 3|98 F— 3993
£ BEY U :Q;L £ BENY
- - \ >
F7e7Ron ja
X
F \K Bl K
B ElL FlL \k
B m
B |

#7 1% 5 > Specifications BEfiI/UNIT:mm

B /HRE TEHERER
MODEL Nose Of A B (r?e) D E E1 F G H K L M
/ SPEC. Spindle

CL-15DP A2-11 381 118 300 196.869 22 -- 6 260 235 6-M20x2.5P 32 43

CL-18DP A2-11 450 118 300 196.869 22 -- 6 260 235 6-M20x2.5P 32 43

CL-21DP A2-15(A2-11) 530 129 380 285.775 27 41 6 330.2 330.2 6-M24x3P 33 60

CL-24DP A2-15(A2-11) 610 129 380 285.775 27 41 6 330.2 330.2 6-M24x3P 33 60

CL-32DP A2-15(A2-11) 800 129 380 285.775 27 41 6 330.2 330.2 6-M24x3P 33 60

CL-40DP A2-15(A2-11) 1000 129 380 285.775 27 41 6 330.2 330.2 6-M24x3P 33 60

RIS /4B4R

s o N 0 0 P P Q R s T u Vo ow X Y
/SPEC max. min. max. min. max. min.

CL-15DP 69.05 60.97 58.05 40.05 104 69 62 25.5 55 7 M30x3.5P 60 68 165 --

CL-18DP 99.46 91.38 58.05 40.05 92 57 62 25.5 55 7 M30x3.5P 60 68 165 --

CL-21DP 80.49 72.41 101.8 41.8 96.95 62 65 25 55 7 M30x3.5P 60 755 180 235

CL-24DP 119.49 111.41 101.8 41.8 96.95 62 65 25 55 7 M30x3.5P 60 755 180 235

CL-32DP 119.49 111.39 197.8 41.8 97 62 65 25 55 7 M30x3.5P 60 755 180 235

CL-40DP 119.49 111.39 299.8 41.8 97 62 65 25 55 7 M30x3.5P 60 755 180 235

HEFE  UIE .. BANDD BAESEN  BAEE =8 _

B /BE Plunger (B S Max. Pull Max. Gripping R ) 2 SHERGLALSE RiTEE
MODEL 9€r  Jaw Stroke Max.Speed . ; Max. Hydr. Weight - Gripping
/SPEC Stroke  [Diameter] rp.m.(min?) | For(ieKN) K fFOI’C((%KN) Pressure (kg) '\C/I;a}ﬂggg Range

: (mm) (mm) 9 g kgflcm®  (Mpa) y

CL-15DP 35 16 3000 8260 (81) 25290 (248) 32 (31) 1041 L2035(L2035RE) 068~0381

CL-18DP 35 16 2700 8260 (81) 25290 (248) 32 (3.1) 138.5 L2035(L2035RE) ©100~0450

CL-21DP 35 16 1900 8650 (85) 27000 (265) 33 (3.2) 204.8 L2035(L2035RE) ©@80~0530

CL-24DP 35 16 1700 8650 (85) 27000 (265) 33 3.2) 260  L2035(L2035RE) ©155~0610

CL-32DP 35 16 1100 8650 (85) 27000 (265) 33 (3.2) 455.4 L2035(L2035RE) ©155~0800

CL-40DP 35 16 800 8650  (85) 27000 (265) 33 3.2) -  L2035(L2035RE) ©155~01000

20



D
| - SOLID ROTARY HYDRAULIC CYLINDERS (BUILT-IN CHECK VALVE)
CPESHBROES L (MYIEEsEE)

SOLID ROTARY HYDRAULIC CYLINDERS
P& 5H B OIS 1

1. BHTERIEE

fERENERE » LU EmEEKN T REERE -
2. Z2E1BIS

AL LEEIREER ST » TRZE5E BRI RIFHESD -

R Y B > Dimensions R 3 B > Dimensions
IS P K P 1.Super thin structure:
L M 5 L M 5 Super thin outer structure reduces the
R N o PTE" 10 i interference with machines and lowers the
& 2PV AP APE burden of machines.
B:{712 B:{T12 2.Built-in Check Valve:

With built-in "check valve", work pieces can be
effectively prevented from flying out during abrupt
failure of pressure.

28

@ \\&ﬁ _C\ %ZHM

& PT1/4" 4
R Q R
#57 1% = > Specifications EE{i[/UNIT:mm #3 4& & > Specifications EEfi/UNIT:mm
BT /RRAS BT /RS
E G =T (=]
MODEL K L E G K L
/ SPEC. A . © P (h7) F (H8) . ’ VO A B c D (h7) F (H8) H J
L0815 75 15 115 90 65 30 21 M20x2.5P 35 137 72
L1020R 105 20 135 100 80 30 21 M20x2.5P 35 172 86
L1020 105 20 135 100 80 30 21 M20x2.5P 35 155 72
L1225R 125 25 160 130 110 35 25 M24x3P 45 180 86
L1225 125 25 160 130 110 35 25 M24x3P 45 163 72
L1530 150 30 190 130 110 45 31 M30x3.5P 45 173 7o L1530R 150 30 190 130 110 45 31 M30x3.5P 45 189 84
L2035 200 35 245 145 120 55 37 M36x4P 60 191.5 72 L2035R 200 35 245 145 120 55 37 M36x4P 60 206.5 83
B /I8 o . SEE(TRR B OHE PUEL RIS /384 ExiE s=oms BIE5E]
'}ﬂgFPEECL M N o o Q R Piston Stroke Max. Speed of Inertia MODEL M N P P Q R Piston Stroke Max. Speed of naetie
. (mm) r.p-m (min) (kg-m?) / SPEC. (mm) r.p.m (min") (kgmz)
L0815 65 97 46 31 6-M8x1.25P 102 15 6000 0.006
L1020R 86 132 45 25 6-M10x1.5P 137 20 6000 0.013
L1020 83 115 45 25 6-M10x1.5P 120 20 5500 0.013
L1225R 94 140 51 26 6-M12x1.75P 145 25 6000 0.023
L1225 91 123 51 26 6-M12x1.75P 128 25 5500 0.023
L1530 101 133 56 26 12-M12x1.75P 138 30 4000 0.048 L1530R 105 149 56 26 12-M12x1.75P 154 30 5500 0.048
L2035 119.5 151.5 69 34 12-M16x2P 156.5 35 4000 0.098 L2035R 123.5 166.5 69 34 12-M16x2P 171.5 35 5500 0.098
~ . R EEEE RHELIL)T) N, AR
BT /RRA8 - RE B (LR Piston Area (cm?) }’,éél%ﬁal? perating gfjrjcfﬁ” FE BT /AR e RafERES Piston Area (cm?) Max. Operating Force FE
MODEL Oil Leakage Rate Max. Pressure " H 1/J1R Weight MODEL Oil Leakage Rat Max. Pressure . HEIEI RIAE Weight
; A A7 Push Sid Pull Sid l Leakage Rale i i &9
/SPEC. (1imin) kgflem®  (Mpa) P i Pull 5id kof - (KN) kot (KN (ko) /SPEC. (1min) kgf/cm?  (Mpa) I LI Push Side Pull Side (ko)
ush Side ull Side g (KN) gf  (KN) Push Side Pull Side kgf  (KN) kgf  (KN)
L0815 0.8 40 (3.9) 44 37 1600 (15.7) 1400 (13.7) 42
L1020R 0.8 40 (3.9) 86 79 3200 (31.4) 2900 (28.4) 6.6
L1020 0.8 40 (3.9) 86 79 3200 (31.4) 2900 (28.4) 59
L1225R 0.8 40 (3.9) 122 113 4600 (45.1) 4200 (41.2) 8.8
L1225 0.8 40 (3.9) 122 113 4600 (45.1) 4200 (41.2) 8.1
L1530 0.8 40 (3.9) 176 160 6500 (63.7) 6000 (58.8) 11.9 L1530R 0.8 40 (3.9) 176 160 6500 (63.7) 6000 (58.8) 12.8
L2035 0.8 40 (3.9) 314 290 11800 (115.6) 10800 (105.9) 21.4 L2035R 0.8 40 (3.9) 314 290 11800 (115.6) 10800 (105.9) 22.5
B IZ%E- B /] : 30kgf/cm?(2.94Mpa) B : 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C e BIEIZHE-EE /] : 30kgf/cm?(2.94Mpa) sHiif : 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C

21 22



I-' RC SOLID ROTARY HYDRAULIC CYLINDERS (WITH COOLANT CONNECTION

& CHECK VALVE)
CPESHER B 8EE]L
GENKBISIEERE)

I-' SOLID ROTARY HYDRAULIC CYLINDERS (BUILT-IN CHECK VALVE & SENSOR)

R SHER T 5 &1
(T LB R R A0S i )

5t ¢ T IERARERRIRMIA

Note: Proximity switch is an extra option.

R Y B > Dimensions R Y~ B > Dimensions

K P K P
< M 5 L
g 11 N 10 M
%0 N 5]
=3 A:m_;g 2-PT3/8"
B:1T12 J - J
ARE
|| ; B:{T12 s
i T B PT1/4" T =
f}e-aIL = T ~e EPCEE
D I
H ; H
2-PT3/8",
PT1/4" Q@ Q _PT1/8",
a
R
R 1% & > Specifications ES{iI/UNIT:mm #2 1% & > Specifications ES{iI/UNIT:mm
- BT /3RA8
Wbt B c D E F G H o A B c D ; F i
/ SPEC. (h7) (H8) / SPEC. (h7) (H8)
L1020RE 105 20 135 100 80 30 21 M20x2.5P L1020RC 105 20 135 100 80 30 21
L1225RE 125 25 160 130 110 35 25 M24x3P L1225RC 125 25 160 130 110 35 25
L1530RE 1 1 1 11 4 1 M30x3.5P
i 150 30 % 80 0 S 8 80x3.5 L1530RC 150 30 190 130 110 45 32
L2035RE 200 35 245 145 120 55 37 M36x4P
. BT /388
B /3948 J K L M N P P MODEL H J K L M N o
DASEEECL max. min. / SPEC. ’
L1020RC M20x2.5P 35 218 1925 132 86 45
L1020RE 35 2315 145.5 86 132 45 25
L1225RE 45 2395 1455 94 140 51 o6 L1225RC M24x3P 45 226 200.5 140 94 51
L1530RE 45 2485 143.5 105 149 56 26 L1530RC M30x3.5P 45 235 209.5 149 105 56
L2035RE 60 266 142.5 123.5 166.5 69 34
= SEgr=F0 = = BIEXET
N N [ =(ESiEn B /HR18 P Q R T .’§§1ﬂ£ ,aj 'E”gi%% Moment
BT /3RS EEITRE R QR Moment MODEL min. Piston Stroke ax. spee of Inertia
MODEL Q R T Piston Stroke Max. Speed of Inertia / SPEC. (mm) r.p.m (min’) (kg-m?)
/ SPEC. (mm) r.p.m (min”) (kg-m?) —
L1020RC 25 6-M10x1.5P 137 202.5 20 6000 0.013
L1020RE 6-M10x1.5P 137 46 20 6000 0.013
L1225RE 6-M12x1 75P 145 6 o5 6000 0.023 L1225RC 26 6-M12x1.75P 145 2105 25 6000 0.023
L1530RE 12-M12x1.75P 154 46 30 5500 0.048 L1530RC 26 12-M12x1.75P 154 2195 30 5500 0.048
L2035RE 12-M16x2P 171.5 46 35 5500 0.098
‘ - —— BAHEC)] - E S BEER i P 5%
B /5518 Oil I:ﬁgiage S {E ) Pistoﬁ’%g%cm% Max. Operating Force i;vl%{:)%%)‘_% Oil Leakage I\?IZTJ%EE 7r]e Piston Area (cm?) }’El\;lja}éj Operaing F}%{%ﬁﬂ Weight
l>/lé)Fl)3EE(l:_ Rate Max. Pressure H#77 o] PE%rjmjé%e P?l\_JLHj]S%Ue / SPEC. Il?a!e kgf/cm? (uMpa) - 7a) A7 Push Side Puli Side (kg)
: (V/min) kgf/cm (Mpa) Push Side Pull Side kgt i) kgt (kN) (Vmin) Push Side Pull Side kgt (KN) kgf (KN
L1020RE 0.8 40 (3.9) 84 79 3100 (30.4) 3000 (29.4) L1020RC 0.8 40 (3.9) 85 79 3200 (31.4) 3000 (29.4) 7.4
L1225RE 0.8 40 (3.9) 120 113 4500 (44.1) 4200 (41.2)
e 08 2 3.9) 174 160 6400 (62.7) 5000 (58.8) L1225RC 0.8 40 (3.9) 121 113 4500 (44.1) 4200 (41.2) 9.8
L2035RE 0.8 40 (3.9) 312 290 11700 (114.7) 10800 (105.9) L1530RC 0.8 40 (3.9) 175 160 6600 (64.7) 6000 (58.8) 13.7

e Bl FUESE- ] : 30kgf/cm?(2.94Mpa) SR : 50°C

23

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C

e B FUESE- ] : 30kgf/cm?(2.94Mpa) Sl : 50°C

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C

24



#8E B P B SH BB IS §1
(BT LS R RN S5 i )

R < B > Dimensions

NEW

I_S' RE COMPACT SOLID ROTARY HYDRAULIC CYLINDER

(BUILT-IN CHECK VALVE & SENSOR)

S S

R < B > Dimensions

C K COLLET CHUCKS

FERERETTESDIN 6343i7&3
Use collect which conform with DIN6343

AR
B:{T12 J .
= 3 Q| ul %l b
g Seues
H ;
‘ , T {E\ Multibore Collet Spring Collet
3-PT1/4) R ﬂ@
#5185 F= > Specifications EEfi7/UNIT:mm #8248 = > Specifications ESA7/UNIT:mm
. by
B c ° e
A B D E F H
/ SPEC. (h7) (H8) / SPEC. A Al B C D E
CK30A4 112 85 107.5 82.6 63.513 M50x1.5P
LS1120RE 110 20 145 128 42 30 22 M20x2.5P CK42A5 135 100 127 104.8 82.563 M66x1.5P
CK42A6 165 100 127 133.4 106.375 M66x1.5P
LS1221RE 120 21 168 145 44 32 22 M20x2.5P CK60A6 165 130 150 133.4 106.375 M90x1.5P
BT RR18 BT RR8
MODEL J K A1 B1 c D1 L M M MODEL F & H J K X
/ SPEC. me. min- / SPEC.
CK30A4 45 M40x1.5P 25 17 28 23
LS1120RE 35 135 7 19 54.5 245 745 49.9 29.9 CKA2A5 - M55x2P o7 5 34 28
CK42A6 65.8 M60x2P 32 25 34 28
LS1221RE 35 138 9 21 53 23 745 49.9 28.9 CKBOAG 82 M75x2P 57 30 38 32
BT /4E4% EETIE e TER BT /R EFITE PE = QR e R A5
MODEL N P P Q R T Piston Stroke Max. Speed MODEL L T Sleeve Stroke Weight Max. Spge‘d Matching CyIindI;:r
/ SPEC. max. min- (mm) r.p.m (min") / SPEC. (mm) (kg) r.p.m (min”)
CK30A4 3-M10x1.5P 2.3 5 4.0 7000 P1036
LS1120RE 163 60 40 6-M8x1.25P 125 17 20 6000 CK42A5 4-M10x1.5P 3.2 6 6.2 6000 P1246
CK42A6 4-M12x1.75P 3.2 6 7.6 6000 P1552
LS1221RE 186 60 39 6-M10x1.5P 128 16 21 6000 CK60A6 4-M12x1.75P 3.2 6 111 5000 P1875
= e 3 =5 i e o TeFFEEE - o am
N I BEEAR) o Max Oparaiing Porce 2=t 1513 AR Grinpingh A BABI)
Moment Oil Leakage Piston Area (cm?) g Forc : rippingRange T
MODEL of Inertia Rate Max. Pressure e Il HESIBI el MODEL Matching Collet Ref BiE e yaTo Max. Push Force Max. GrippingForce
/ SPEC. ; 2 & R i i / SPEC. Spring Collet Multibore Collet = kgf (KN kgf (KN
(kg-m?) (min) kgtfm (Mpa) Push Side Pull Side kl;]gsh S(I}gﬁ) knguII S(Iﬂ?\j) pring Round  Hexagonal Square gt (KN) of (KN)
CK30A4 163E M-669 03~030 4~27 5~20 2040(20) 4488(44)
LS1120RE 0.02 1.2 35 (3.4) 89.6 84.8 2800 (27.5) 2700 (26.5) s | 173E V673 03042 636 6-30 2550(25) 5610(55)
CK42A6 173E M-673 03~042 6~36 6~30 2550(25) 5610(55)
~SiElRE 0.08 12 40 (3.9) 107.7 102 3900 (38) 3800 CK60A6 185E M-677 04~060 852 7~42 3060(30) 6630(65)

e BIFUESE-[EE ] : 30kgf/cm?(2.94Mpa) SR : 50°C

25

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94Mpa), Oil temperature-50°C

26



